# Commentationes Mathematicae Universitatis Carolinas 

Jürgen Schu
Iterative approximation of fixed points of nonexpansive mappings with starshaped domain

Commentationes Mathematicae Universitatis Carolinae, Vol. 31 (1990), No. 2, 277--282

Persistent URL: http://dml.cz/dmlcz/106857

## Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1990

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# Iterative approximation of fixed points of nonexpansive mappings with starshaped domain 

Jürgen Schu


#### Abstract

Let $E$ be a reflexive Banach Space, which possesses a weakly sequentially continuous duality mapping and $A$ be a closed, bounded subset of $E$, which is starshaped with respect to zero. Then for each nonexpansive self-mapping $T$ of $A$ the iteration process $z_{n+1}=\lambda_{n+1} T\left(z_{n}\right)$ converges strongly to some fixed point of $T$, if ( $\lambda_{n}$ ) satisfies certaing conditions.


Keywords: fixed points, nonexpansive mappings on starshaped domains, iteration processes

Classification: 47 H 10

## 1. Introduction.

In [2] B. Halpern introduced the process $z_{n+1}=\lambda_{n+1} T\left(z_{n}\right)$ for approximation of a fixed point of a nonexpansive self-mapping defined on the unit ball of a Hilbert Space.

Later it was shown by S. Reich ([5], Theorem 3.1), that in case of a smooth Opial Space $E$, admitting a duality mapping which is weakly sequentially continuous at zero, the sequence ( $z_{n}$ ) converges strongly to a fixed point for every nonexpansive self-mapping $T$ of a closed, bounded and convex subset $A$ of $E$, containing zero, if $\left(\lambda_{n}\right)$ equals $\left(1-\frac{1}{(n+2)^{c}}\right)$ with $c \in(0,1)$.

We intend to show, that this result remains valid, if we demand $A$ to be merely starshaped with respect to zero instead of being convex, and assume that $E$ is reflexive and possesses a duality mapping, which is weakly sequentially continuous on the whole of $E$.

Conventions. Throughout this paper all normed spaces are assumed to be real Banach Spaces.

Let $(E,\|\cdot\|)$ be a normed space; $\emptyset \neq A \subset E ; T: A \rightarrow E ; x_{0} \in A$.
We call $(E,\|\cdot\|)$ smooth iff $\|\cdot\|$ is Gateaux-differentiable on $E \backslash\{0\}$ and $A$ is called starshaped with respect to $x_{0}$ iff for all $x \in A$ and $\lambda \in[0,1]$ we have $\lambda x+(1-\lambda) x_{0} \in$ A. $T$ is said to be nonexpansive iff $\|T x-T y\| \leq\|x-y\|$ for all $x, y \in A$. For abbreviation we denote the fixed point set of $T$ by $F i x(T)$. The weak (weak ${ }^{*}$, strong) convergence of a sequence ( $x_{n}$ ) to some element $x$ is indicated by $\left(x_{n}\right) \rightarrow$ $x\left(\left(x_{n}\right) \stackrel{*}{\leftrightarrows} x, \lim \left(x_{n}\right)=x\right)$.

Let us now recall the definition of a duality mapping.

A function $\mu: \mathbf{R}^{+} \longrightarrow \mathbf{R}^{+}$is said to be a gauge function iff $\mu$ is continuous, strictly increasing, $\mu(0)=0$ and $\lim _{x \rightarrow \infty} \mu(x)=\infty$.

The related set-valued duality mapping $J_{E}: E \longrightarrow 2^{E^{*}}$ is given by $J_{E}(0):=\{0\}$ and $J_{E}(x):=\left\{u \in E^{*} \mid u(x)=\|u\|\|x\|\right.$ and $\left.\|u\|=\mu(\|x\|)\right\}$ for all $x \in E \backslash\{0\}$.
$J: E \longrightarrow E^{*}$ is said to be a duality mapping iff $J(x) \in J_{E}(x)$ for all $x \in E$.
For convenience in all proofs of section 2, we will assume, without loss of generality, that $J_{E}$ respectively $J$ is normalized, i.e. $\mu=$ id. Note, that for a smooth normed space $J_{E}$ is always singlevalued, in which case we regard $J_{E}$ as a mapping from $E$ to $E^{*}$.

Finally we call $J$ weakly sequentially continuous in $x \in E$ iff for all $\left(x_{n}\right) \in E^{N}$ $\left(x_{n}\right) \rightharpoonup x$ implies that $\left(J\left(x_{n}\right)\right) \stackrel{*}{\bullet} J(x)$.

## 2. Main result.

Before stating our above mentioned theorem, we have to give several lemmas.
Lemma 1. Let $(E,\|\cdot\|)$ be a normed space; $x, y \in E ; \alpha, \beta \in \mathbf{R} ; \|(1+\alpha) x-(1+$ $\beta) y\|\leq\| x-y \|$.
Then $u(\alpha x-\beta y) \leq 0$ for all $u \in J_{E}(x-y)$.
Proof: For $u \in J_{E}(x-y)$ we have $u(\alpha x-\beta y)=u((1+\alpha) x-(1+\beta) y)-u(x-y) \leq$ $\|u\|\|(1+\alpha) x-(1+\beta) y\|-\|x-y\|^{2} \leq\|x-y\|\|x-y\|-\|x-y\|^{2}=0$.
Lemma 2. Let $(E,\|\cdot\|)$ be a smooth normed space; $x, y \in E ; \alpha>\beta \geq 0 ; J_{E}(x-$ $y)(\alpha x-\beta y) \leq 0$.
Then $J_{E}(y-x)(x) \geq 0$.
Proof : From our assumption $0 \geq J_{E}(x-y)((\alpha+\beta)(x-y)+(\alpha y-\beta x))=$ $(\alpha+\beta)\|x-y\|^{2}+J_{E}(x-y)(\alpha y-\beta x)$, hence $J_{E}(x-y)(\beta x-\alpha y) \geq(\alpha+\beta)\|x-y\|^{2}$. Define $\gamma:=\frac{\beta}{\alpha+\beta}$. Then, since $\alpha>\beta \geq 0, \gamma \in\left[0, \frac{1}{2}\right)$ and therefore $1-2 \gamma \in(0,1]$. Now we obtain

$$
\begin{gathered}
\|x-y\|^{2} \leq J_{E}(x-y)(\gamma x-(1-\gamma) y)=\frac{1}{2} J_{E}(x-y)((2 \gamma-1)(x+y)+(x-y))= \\
\frac{1}{2}\|x-y\|^{2}+\frac{1}{2}(2 \gamma-1) J_{E}(x-y)(x+y), \text { hence } \\
\|x-y\|^{2} \leq(1-2 \gamma) J_{E}(y-x)(x+y), \text { where } 1-2 \gamma>0 .
\end{gathered}
$$

Therefore $J_{E}(y-x)(x+y) \geq 0$ and consequently $\|x-y\|^{2} \leq J_{E}(y-x)(x+y)$, from which we conclude, that

$$
2 J_{E}(y-x)(x)=J_{E}(y-x)((y+x)-(y-x))=J_{E}(y-x)(y+x)-\|x-y\|^{2} \geq 0
$$

Lemma 3. Let $(E,\|\cdot\|)$ be a normed space with a weakly sequentially continuous duality mapping $J: E \longrightarrow E^{*} ;\left(x_{n}\right) \in E^{N} ; x \in E ;\left(x_{n}\right) \longrightarrow x ;$

$$
\begin{equation*}
J\left(x_{m}-x_{n}\right)\left(x_{n}\right) \geq 0 \text { for all } m \geq n \tag{*}
\end{equation*}
$$

Then $\lim \left(x_{n}\right)=x$.
Remark. Since $J$ is weakly sequentially continuous, $E$ is a smooth normed space (see e.g. [1]).
Proof : Fix $n \in \mathrm{~N}$. Then $\left(x_{m}-x_{n}\right)_{m} \rightharpoonup x-x_{n}$, hence $\left(J\left(x_{m}-x_{n}\right)\right)_{m} \stackrel{*}{\rightharpoonup} J\left(x-x_{n}\right)$ and with the help of (*) we get

$$
0 \leq \lim _{m \longrightarrow \infty} J\left(x_{m}-x_{n}\right)\left(x_{n}\right)=J\left(x-x_{n}\right)\left(x_{n}\right) .
$$

Therefore

$$
J\left(x-x_{n}\right)(x)=J\left(x-x_{n}\right)\left(x-x_{n}\right)+J\left(x-x_{n}\right)\left(x_{n}\right) \geq\left\|x-x_{n}\right\|^{2}
$$

from which the result follows, because $\lim _{n \rightarrow \infty} J\left(x-x_{n}\right)(x)=0$.
Remark. Combining Lemma 2 with Lemma 3 one immediately obtains a convergence lemma of G. Müller and J. Reinermann ([4], Lemma 2.5).
Lemma 4. Let $(E,\|\cdot\|)$ be a smooth normed space; $\emptyset \neq A \subset E ; T: A \longrightarrow E$ nonexpansive; $x, y \in A ; \lambda \in(0,1) ; x=\lambda T(x) ; y=T(y)$.
Then $J_{E}(y-x)(x) \geq 0$.
Proof : If we define $\alpha:=\frac{1}{\lambda}-1$ and $\beta:=0$ we observe, that $\alpha>\beta \geq 0$ and

$$
\|(1+\alpha) x-(1+\beta) y\|=\left\|\frac{1}{\lambda} x-y\right\|=\|T x-T y\| \leq\|x-y\| .
$$

The result follows from Lemma 1 and Lemma 2.
Lemma 5. Let $(E,\|\|$.$) be a smooth normed space possessing a duality mapping$ $J: E \longrightarrow E^{*}$, which is weakly sequentially continuous at zero; $\emptyset \neq A \subset E ; T$ : $A \longrightarrow E$ nonexpansive $;\left(x_{n}\right) \in A^{\mathbf{N}} ;\left(\lambda_{n}\right) \in(0,1)^{\mathbf{N}} ; x \in A ; x=T x ; x_{n}=\lambda_{n} T\left(x_{n}\right)$ for all $n \in \mathbb{N} ;\left(x_{n}\right) \rightharpoonup x$.
Then
(1) $\lim \left(x_{n}\right)=x$
(2) $J(y-x)(x) \geq 0$ for all $y \in \operatorname{Fix}(T)$.

Proof : Lemma 4 tells us, that $J\left(x-x_{n}\right)\left(x_{n}\right) \geq 0$ for all $n \in N$ and, as already seen in the proof of Lemma 3, this implies, that $\left\|x-x_{n}\right\|^{2} \leq J\left(x-x_{n}\right)(x)$ for $n \in N$. Since $\left(x-x_{n}\right) \rightharpoonup 0$ and $J$ is weakly sequentially continuous at zero, we obtain $\lim \left\|x-x_{n}\right\|=0$. To prove (2) let $y$ be an arbitrary fixed point of $T$.

Again by Lemma $4 J\left(y-x_{n}\right)\left(x_{n}\right) \geq 0$ for $n \in N$.
Since $E$ is smooth, $J$ is strong-weak* continuous (see e.g. [1]) and so $\lim \left(y-x_{n}\right)=$ $y-x$ implies, that $\left(J\left(y-x_{n}\right)\right) \stackrel{*}{-} J(y-x)$.

This, together with $\lim \left(x_{n}\right)=x$, shows, that $\lim _{n \rightarrow \infty} J\left(y-x_{n}\right)\left(x_{n}\right)=J(y-x)(x)$ and so $J(y-x)(x) \geq 0$.

Lemma 6. Let $(E,\|\cdot\|)$ be a normed space with a weakly sequentially continuous duality mapping $J: E \longrightarrow E^{*} ; \emptyset \neq A \subset E$ closed; $T: A \longrightarrow E$ nonexpansive; $\left(x_{n}\right) \in A^{\mathbf{N}} ; x \in E ;\left(\lambda_{n}\right) \in(0,1)^{\mathbf{N}}$ strictly increasing; $\lim \left(\lambda_{n}\right)=1 ; x_{n}=\lambda_{n} T\left(x_{n}\right)$ for all $n \in \mathrm{~N} ;\left(x_{n}\right) \rightharpoonup x$.

Then
(1) $\lim \left(x_{n}\right)=x$ and $T(x)=x$
(2) $J(y-x)(x) \geq 0$ for all $y \in \operatorname{Fix}(T)$.

Proof : Defining $\mu_{n}:=\frac{1}{\lambda_{n}}-1$ for $n \in N$, we observe, that for $m>n, \mu_{n}>$ $\mu_{m} \geq 0$ and $\left\|\left(1+\mu_{n}\right) x_{n}-\left(1+\mu_{m}\right) x_{m}\right\|=\left\|T x_{n}-T x_{m}\right\| \leq\left\|x_{n}-x_{m}\right\|$.
We now apply Lemma 1 and Lemma 2 to derive, that $J\left(x_{m}-x_{n}\right)\left(x_{n}\right) \geq 0$ for $m>n$ and from Lemma 3 we conclude, that $\lim \left(x_{n}\right)=x \in \bar{A}=A$.
Since $T$ is continuous $T x=\lim \left(T x_{n}\right)=\lim \left(\frac{1}{\lambda_{n}} x_{n}\right)=x$.
Part two of our claim now follows from Lemma 5.
Lemma 7. Let $(E,\|\|$.$) be a reflexive Banach Space with a weakly sequentially con-$ tinuous duality mapping $J: E \longrightarrow E^{*} ; \emptyset \neq A \subset E$ closed, bounded and starshaped with respect to zero; $T: A \longrightarrow A$ nonexpansive.
Then there exists $z \in A$ such that $T(z)=z$ and $J(y-z)(z) \geq 0$ for all $y \in \operatorname{Fix}(T)$.
Proof : Set $\lambda_{n}:=1-\frac{1}{n+1} \in(0,1)$ and $T_{n}:=\lambda_{n} T$ for $n \in N$.
Then $\left\|T_{n} x-T_{n} y\right\| \leq \lambda_{n}\|x-y\|$ and, because $A$ is starshaped with respect to zero, $T_{n}(A)=\lambda_{n} T(A) \subset \lambda_{n} A+\left(1-\lambda_{n}\right)\{0\} \subset A$. The classical contraction principle therefore delivers for each $n \in N, x_{n} \in A$, such that $x_{n}=T_{n}\left(x_{n}\right)=\lambda_{n} T\left(x_{n}\right)$.
Since $A$ is bounded and $E$ is reflexive, there exists $z \in E$ and $\varphi: N \longrightarrow N$ strictly increasing, such that $\left(x_{\varphi_{n}}\right) \rightharpoonup z$. Because $x_{\varphi_{n}}=\lambda_{\varphi_{n}} T\left(x_{\varphi_{n}}\right)$ we are allowed to apply Lemma 6 to ( $x_{\varphi_{n}}$ ), from which the result follows.

Definition 8. (see B. Halpern [2])
A sequence ( $\lambda_{n}$ ) is said to fulfill condition (H) iff
(1) $\left(\lambda_{n}\right) \in(0,1)^{N}$ strictly increasing and $\lim \left(\lambda_{n}\right)=1$
(2) there is $\left(\beta_{n}\right) \in \mathbb{N}^{N}$ nondecreasing, such that $\lim \left(\beta_{n}\left(1-\lambda_{n}\right)\right)=\infty$ and $\lim \left(\frac{1-\lambda_{n}+\rho_{n}}{1-\lambda_{n}}\right)=1$.
In the course of the proof of Theorem 3, [2] B. Halpern actually showed, that the following holds.

Theorem 9. Let $(E,\|\cdot\|)$ be a normed space; $\emptyset \neq A \subset E$ bounded and starshaped with respect to zero; $T: A \longrightarrow A$ nonexpansive; $\left(\lambda_{n}\right) \in(0,1)^{\mathbb{N}}$ satisfying condition (H); $\left(x_{n}\right) \in A^{\mathcal{N}} ; x_{n}=\lambda_{n} T\left(x_{n}\right)$ for all $n \in N ; z_{0} \in A ; z_{n+1}:=\lambda_{n+1} T\left(z_{n}\right)$ for all $n \in \mathrm{~N}_{0}$; assume further, that $\left(x_{n}\right)$ converges strongly to some $q \in E$.
Then $\lim \left(z_{n}\right)=q$.
Note, that $\left(z_{n}\right)$ is well-defined, because $T(A) \subset A$ and $A$ is starshaped with respect to zero.
Now we are able to show our main result.

Theorem 10. Let $(E,\|\cdot\|)$ be a reflexive Banach Space with a weakly sequentially continuous duality mapping $J: E \longrightarrow E^{*} ; \emptyset \neq A \subset E$ closed, bounded and starshaped with respect to zero; $T: A \longrightarrow A$ nonexpansive; $\left(\lambda_{n}\right) \in(0,1)^{\mathbb{N}}$ satisfying condition $(H) ; z_{0} \in A ; z_{n+1}:=\lambda_{n+1} T\left(z_{n}\right)$ for all $n \in \mathbf{N}_{0}$.
Then there exists $z \in A$, such that $T(z)=z$ and $\lim \left(z_{n}\right)=z$.
Proof : From Lemma 7 we obtain $z \in A$ such that $T(z)=z$ and

$$
\begin{equation*}
J(y-z)(z) \geq 0 \text { for all } y \in F i x(T) \tag{*}
\end{equation*}
$$

As shown in the proof of Lemma 7 there is $\left(x_{n}\right) \in A^{\mathbb{N}}$ with $x_{n}=\lambda_{n} T\left(x_{n}\right)$ for all $n \in N$.
Consider an arbitrary strictly increasing mapping $\varphi: N \longrightarrow N$ now.
Since $A$ is bounded and $E$ is reflexive, we find some strictly increasing $\psi: N \longrightarrow \mathbf{N}$ and $x \in E$, such that $\left(x_{\varphi_{\psi_{n}}}\right) \rightarrow x$.
If we apply Lemma 6 to $\left(x_{\varphi_{\psi_{n}}}\right)$, we get $\lim \left(x_{\varphi_{\psi_{n}}}\right)=x, T(x)=x$ and

$$
\begin{equation*}
J(y-x)(x) \geq 0 \text { for all } y \in F i x(T) \tag{**}
\end{equation*}
$$

Because $T x=x,(*)$ delivers $J(x-z)(z) \geq 0$ and since $T z=z,(* *)$ shows us, that $J(z-x)(x) \geq 0$, hence $J(x-z)(-x) \geq 0$. Adding both inequalities one gets $0 \leq J(x-z)(z-\bar{x})=-\|x-z\|^{2} \leq 0$, hence $x=z$ and therefore $\lim \left(x_{\varphi_{\psi_{n}}}\right)=z$. This shows, that $\lim \left(x_{n}\right)=z$ and applying Theorem 9 we are done.
Remark. A result of J.-P. Gossez and E. Lami Dozo ([3], Theorem 1) states, that every normed space, which possesses a weakly sequentially continuous duality mapping, is also an Opial Space (i.e. $\left(x_{n}\right)-x$ and $y \neq x$ always implies that $\left.\liminf \left\|x_{n}-x\right\|<\liminf \left\|x_{n}-y\right\|\right)$.

Therefore Theorem 10 reduces to a special case of the result of S. Reich, already mentioned in the beginning ([5], Theorem 3.1), if we additionally demand $A$ to be convex. The proof of S. Reich, however, does not carry over to starshaped domains. Note for example, that for a nonexpansive self-mapping $T$ of a closed, bounded and starshaped subset of an Opial Space, id $-T$ is not necessarily demiclosed. But demiclosedness of $i d-T$ is essential to the proof of Theorem 3.1 from [5].

For a result concerning the weak convergence of the sequence given by $z_{n+1}:=$ $\lambda_{n+1} T\left(z_{n}\right)$ in case of a Hilbert Space and under different assumptions, we refer to [6], Theorem 8.

## Acknowledgement.

I wish to thank Prof. Dr. J. Reinermann for his interest in this paper.

## References

[1] J. Diestel, Geometry of Banach Spaces - Selected Topics, Lecture Notes In Mathematics 485, Springer-Verlag, Berlin, Heidelberg, New York, 1975.
[2] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc. 73 (1967), 957-961.
[3] J.-P. Gossez, E. Lami Dozo, Some geometric properties related to the fixed point theory for nonexpansive mappings, Pacific J. Math. 40(3) (1972), 565-572.
[4] G. Müller, J. Reinermann, Fixed point theorems for pseudocontractive mappings and a counterexample for compact maps, Comment. Math. Univ. Carolinae 18(2) (1977), 281-298.
[5] S. Reich, Asymptotic behaviour of contractions in Banach Spaces, J. Math. Anal. Appl. 44 (1973), 57-70.
[6] J. Reinermann, Approximation von Fixpunkten, Studia Math. 39 (1971), 1-15.

RWTH Aachen, Lehrstuhl C für Mathematik, Templergraben 55, D-5100 Aachen, FRG
(Received October 16, 1989)

